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Which s "3 times the difference of v and +°

A Feve=+d g deiv+

@l'n-h

\Which i the pnme facrorization of 72

Jejslele} B 3ele2

D j=sv=1)

[ Lk D. 3edel

33*%

t 30
31\
2!8

11

Whats the value of the expression 3x — 4 when [A ﬂ

r=2

3(2) 44 ={10]

A company prints n books at a cost of 49 per
book. What is the total cl_?st of the books?

A §9.n
S

B

Which value of x:3 the solution of the equation
when x=5=28

C a+132

=<
¥= 13 ]

Determine which value of 1 is 2 solution of the

equation 3x + 2 = 11 3x :ﬁ
x =83

Determine which value of x is a soluten of the
equanon 4x—3 = 13

be-3 =13
Hu=\le

[x=H4

Solve the equation 7x =42
=L
E2)
x=0
Solve the equation §= 7

®x=:l B x=1 z‘

C o x=2 D x=:8

X-

A ox=22 x=1

C.ox=+3 D x=14

€3

19

Name Aﬁsw

Date ’6’”-‘

Solve x =713 3

xc.%
Z&l-"l -1 < \5 -'I-S
;=P H% ;,Z

B, x=3

D x=2 géx

Which algebraic equation represents the word
sentence “13 less than the number of computers ¢
is 327

A —-=32

Solve 4+ <

B e

C x»2

C 15c=32 @c—t3=s:
The solution of %k + JlE— =34
k=10 pok=s g $I-(p
HK -(°®
Yk = s40

C k=5 D k=7

= B 15-x=3 C_ls:SE

Answer Key
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-,

Which1s not a solution to - 3v = 15¢ 4
v ows e B oy=12 ;,/

. When twice a number 13 decreased by +, the 11
resuleie 136, What is the number? =
Wt z ue 1.!\."":2-3 12 i!
c 33 @::o 2n =244 " A
q =120
Which has the preatest value? b D
A i=anzs 3 @Eesez 14
Ny G R
C el 0. 22s0 &
149 4+4
f{n + 3319 = 5) = 16, then what does = equal? 16 B
o . Hn + 12zt 17L_
: HnzY s_ C
Whichs 3.1x 107 nel
A. 8,100,000 0.00C08) 19 ‘
C ElQCEQ D 0.00nG0E)
Which of the following numbers is greater than 1+
A -l43 l 000009
C. 3 3539 D 38




. Solve the inequality 8x < 2+

. The bar graph chows the average dalv

temperatures th Taledo, Ohio, for five months
Between which two ntonths did the average
temperature change by the greatest amount?

ey [ -0 =20
o s O §A
v -
s T

. 1 e R .

Muuih

Tigenature |°F

Jeouary to February
February to Mareh
C. MarchtoApnl
D Aprlto May

Which number 15 equivalent 1o {-6+

. Which represents the phrase rhe dtfference of a

numker and 32}

A o=12

G- n-3L

C. e+3l D 2%

. Evaluate the expression 12 — v for the valye

v=-3

==

iL+¢ -'-1@

Which ordered pairis a soluuon of Ww—-3x

@ 15,13)

C (05 D, {(+.0v

. Which of the following is the value of -7 + 33

when 4 = 3}

5. e 2(18)* 3(5 <

~7+3(8)__

-+ 1% :L‘i_

%¢3

Aoasd B

o=

x<}

D.x<14

=

i0

i3,

Subtract -4) =412 —“\ + \’Z'—' 8

OF 3. .6

C..3 D 16

. Stmplify the expression 100— 24 3%

A 388 @ 2 100 - 'LL"{ ‘\)
. 2152 100 - ?'(.3(9)
* 160 =72 =28

Simplify the expression +1 + 38 - 2y

cC. 52

= 41+3(€-3)

=41 +3(0)
=41+0 =)

[ R N1}
Write 0 0000524 1n scienuilic notation
A, 23,2510 B. 3.2:e107
C. 5 25100 3.2%=10°
S.24% (0”8
lt have taken her to saw

PIBCI'.'!
itmen I u:l :é NT think about the

number of cuts she must make).

b rain for ?.cu‘l’SL
< cui'S'-?.‘\fZ"‘ 2 wts
-0 mng 24 min

. Which is the next tum xnthe s

: 11. -6 :+ H

nq [0

|7_h7_

V NAY z(s) $2:=17
2Byt 2l

2(}&)4-2 g4

Which number i3 lﬂ.lh:m IO ?

s 25 10:10.10"
@ s
ﬂ l.doo

3+. Whatvalue of xisasoluticnof x -9 =3

35.

¥-4:¢
£33

¥ =11

Claire vitits her grandmother every + weeks,
washes her car everv 3 weeks and geos paid every
Y weeks. How often will all three thungs happen
i the same week?

A everv weeks 3 everv 3 owecks

@ erery 12 weeks D every 2 weeks

GCF— \L

(2 cuts)

. It took Tina 6 minutes to saw a board into 3 equ.ll

Answer Nev
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o mc%




12350600 LI2*=
r 134312

1,23

6 Last vear a factorv produced 1,235,600 pares. If - 2
(_/ the companv expects a 12°3 increaze ke 1000 - T
\/ producnon thu vear, how many pares will the 5 ;
factorv producer z 1000 -~
v -+
G 1333892 B. 1+ 827200 z 2000 + -
C. 12425400 D 1382710 2 looor
®  0s >
Y1 233567
i7. Lastvear, Chloe samned 543,672 Of this 13 Months in plan
amount. $6,612 44 was withheld fer income A savings plan requires §1000 to start plus a T

taxes Whar percent of Chlae's income was

withheld?
6,622.44

A 1M B 172 A Theplan is for 300 weeks

- o/ WS ’(,'1‘)_ A Members wiil make 500 deposts

C. Zach raccesave deposit b 5300 mere

. ‘qs s l." -57@ The monthlv depont 15 §500

32 A spinner was spun 220 tmes. The outcome was
red 35 times. E:timate the probabiliry of the

outcome red

5% .
A 0235 0.26+ ——— - .'LCDL‘
C 0

monthly deposit, as shown on the zraph

C. 0106 D o3

39, What 1s the probability of rolling an odd number

on 1 angle dice?
@ - B ‘)1\31'.‘!61("
R x &

[STEN
Wi

1

€3 o3 Y2 #'s ace odd

H2. Which of the following 13 the soluton of the
equanon v = Hx =4y} S = HL\‘- Ll)
A}s(u‘%:q@o-q} ¢) & (4) = 4o -u)
,{ 6.13) B 1194 LS £ % 20 2 lL‘\

a) 5(0) = H(u-H) ¢
0 =0

C. ae# OLR] g) s(4)= H(I‘i -H)
3+ 10 & X i Ten sears from now, Cal will be x_\‘nr?'sool:? 60

How old was he 3 vears ago?

I R-10 » o = t)':- now
5-5 QX'|O)'5@FIO D, x=10 ’+‘ {

= ¥

*1. A landscaping companv charges a §35 consolaton
fee, plus 530 per hour. How much would i cost
1o Jure the company {or 3 hours

25+60h =$
1% 4 50(3)z 35+ 160
b 45
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